\\ I \\
\x
STIFFENERS
AN 21/27 X 1 1/2"
1/4  (FOR
ATTACHMENT SEE
CONDUIT STRAPS ME)
(SEE DETALL "B") / DETAIL "A®)
/ SIGN PANEL
3/4"Pyvc coalted Ghc
SRR
STEEL CONDUIT ——o=]
- 1 } ]
Ak / \. I
i
&
REMOTE BALLAST
ATTACH W/4—3/8"
GALV. BOLTS, NUTS
& LOCK WASHERS

GROUND MOUNTED

VARIES—6'=0"0.c. MAX.

\

\

Ereer CONDUIT—med

/

4 PIC Conted 6RC

STIFFENERS
e 21/2" X 11/2"
1/4 « (FOR
ATTACHMENT SEE
DETAIL "A™)

ATTACH W/ 3/8"
GALV. BOLTS, NUTS
& LOCK WASHERS

/ /——— SIGN PANEL
/

CONDUIT STRAPS
(SEE DETAIL "B")
I

)
g

'l

\

EJ[FJ

\

T

REMOTE BALLAST m———r

N

—d

1 1/4" GALV.

STEEL CONDUIT

TOP VIEW

OVERHEAD MOUNTED

| VARIES—6'~0"0.c. MAX.

(SEE NOTE #3)

L
| = SIGN PANEL

3% 2 X1/4" L
(ATTACH W/ 3/8"
GALV. BOLTS, NUTS
& LOCK WASHERS,
SIMILAR TO DETAIL "A")

2~3/8" GALV.
U—BOLTS W/NUTS
& LOCK WASHERS

CORNER BRACE
(SEE DETAIL "C”)

S4 X 9.54 —\

L S— =
et SIGN PANEL
8
T SIGN POST
‘* /
REMOTE BALLAST (MTD. IN W.P. ENCL.)
vd (ATTACH W/ 3/8" GALV. BOLTS,
NUTS & LOCK WASHERS)
LIGHT
: / CENTER
_ / /
ot
T = /]
// LUMINAIRE
4
© ALy
™ 1/
L >\ 34 X 9.5§ !
A :'\! ra ﬁ ﬁ %
' | I il = =
1'=0" | D I s
— + i t

SECTION A-A

STIFFENER
21/2° X1 1/2
X 1/4" <

ot

~

/

/IZ/ //i’

—MAST ARMS

E
|
!
i
|
I
|
|
]

[OP VIEW

S4 X 0.5 #

>

|

4_-,\

JAN

3/4°Pyc Coated GRC

CORDUIT-
\/\O

X

O

1/18° X 17 GALV.
STEEL STRAP

TOP VIEW

CORNER BRACE

N\ -

e,

/— S4 X 9.5#

N

DETAIL” ,

~

| IR

N

~

1/4° GALY. BOLT,
(Q NUT & LOCK WASHER
i)

XN

WATERTIGHT FLEXIBLE

METALLIC CONDUIT

SIGN PANEL _
(SEE NOTE #3) %‘ $ L
e S GN POST
A e
i -~ )
‘%\\ i
~ AN
54 X 9.54
A/// _\\ S5 x 10
3" PVC Coated 6RC — CONDUIT STRAPS
2 (SMILAR TO DETAIL "B%)
” ONDUIT STRAPS STEEL CONDUIT 7
g CONBUIT—| / VSEE DETAL "B") / 7 q
\ 7 / :ﬁ ﬁ :ﬂ:\
5; _ 2" X 1/4° STEE| 1T T
P ] B;\(R (A’;'TACH W \ | K
8" GALV. BOL |
GALV. STEEL _|— | (X 14 STEEL SUTS & LOCK | — ‘=
FITTINGS ——| . N ‘@;7—— gﬁg" ‘éﬂf‘,"’éo‘ﬁés WASHER) B N =
— NUTS & LOCK \\ T
\ WASHER) / <
N \; ~ e AN
/ N e ™~
N\ N
/ REMOTE BALLAST
CONDUIT TO , &— G
DIST. CIRCUITS // A B |

GROUND MOUNTED

72\ LUMINARIRE MOUNTI

@ NOT TO SCALE

NG ovERHEAD MOUNTED

\— 5/16" GALV. BOLTS,

SIDE_VIEW

DETAIL "A”

LEGEND:

—— EXISTING ITEMS

NEW ITEMS

NUT & LOCK WASHERS

Sl

DETAIL "B”

VIEW

DVM JOB No.: 89104.01
CAD FILE No.: E-27/3

VARIES

o

.

—EXIST. SIGN PANEL

LIGHT
CENTER

LUMINAIRE

T NEW

12°R MIN.

CORNER BRACE
(SEE DETAIL *C")

NO

SECTION B-B

FED. ROADE FED. AID FISCAL{ SHEET| TOTAL
DIST. No. PROJ. No. YEAR No. | SHEETS
HAWAIN IR—H1-1 (213)I 1994 29 38
2- 3/8" DIA.
/ u BoLT
5 TILT

REMOTE BALLAST (MTD. IN W.P. ENCL.)
(ATTACH W/ 3/8" GALV. BOLTS,
NUTS & LOCK WASHERS)

1. ALL PARTS OF THE LUMINAIRE MOUNTING INCLUDING CONDUIT, J—BOXES
AND BALLAST ENCLOSURES SHALL BE HOT—DIP GALVANIZED, PRIME COATED
WITH A SUITABLE PRIMER AND PAINTED WITH THREE COATS OF DARK

GREEN ENAMEL.

2. LUMINAIRE MOUNTING SHALL BE ADJUSTED AS RECOMMENDED BY THE
MANUFACTURER TO PROVIDE OPTIMUM SIGN ILLUMINATION.

3. THE CONTRACTOR SHALL INSURE THAT THE LUMINAIRE SUPPORTS DO NOT
CONFLICT WITH THE SIGN SUPPORTS (SEE SUPPORT SPACING TABLES ON
STANDARD PLANS JE—25 AND JE—26). FINAL SPACING SHALL BE APPROVED
BY THE ENGINEER.

4, THE MAXIMUM SPACING OF LUMINAIRES SHALL BE 10 FEET ON CENTERS
AND THE MAXIMUM HEIGHT AND WIDTH ILLUMINATED BY A SINGLE LUMINAIRE

SHALL BE 10 FEET BY 10 FEET, RESPECTIVELY.

5. REFER TO STANDARD PLAN TE-28.

[ PROFESSIONAL \ *

ENGINEER

No.

3183-£ /

THIS WORK WAS PREPAR

ME OR UNDER MY SUPERVISION

E-27

STATE OF HAWAI

HIGHWAYS DiVISiON

DEPARTMENT OF TRANSPORTATION

INTERSTATE ROUTE H-— 1

PALAILAI 1.C. TO KUNIA I.C.

PROJECT No.

SCALE:

AS NOTED

[R—H1-1(213)

DATE REVISION

SHEET No. 14 OF 18

_SHEETS




